SESSION ENDING EXAMINATION-2022-23
CLASS — XI SUB: ECONOMICS /STURIT™ (030)

Time allowed: 3 Hours Maximum Marks: 80
General Instruction:

i | Allthe questions in both the sections are compulsory. Marks for questions are indicated against each
question.
ii | Question number 1 - 10 and 18 - 27 are very short-answer questions carrying 1 mark each. They are required
to be answered in one word or one sentence each.
iii | Question number 11 - 12 and 28 - 29 are short-answer questions caring 3 marks each. Answers to them
should not normally exceed 60-80 words each.
iv | Question number 13 - 15 and 30 - 32 are also short-answer questions carrying 4 marks each. Answers to them
should not normally exceed 80-100 words each.
v | Question number 16 - 17 and 33 - 34 are long answer questions carrying 6 marks each. Answers to them
should not normally exceed 100-150 words each.
vi | Answer should be brief and to the point and the above word limit be adhered to as far as possible.
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SECTION — A (STATISTICS FOR ECONOMICS)
| Q. [ MKs |
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Read the following statements carefully:
Statement 1 — During elections news channels try to predict result by exit poll.
Statement 2 — Exit poll is a popular example of random sampling.
In the light of the given statements, choose the correct alternative from the following:
A. Statement 1is true and statement 2 is false
B. Statement 1 is false and statement 2 is true
C. Both statements 1 and 2 are true
D. Both statements 1 and 2 are false
oA fleRadsyldl oA UG -
FYT1-FA S RATARR ITAR AT oRTT 0 B} TN HA BT I B €
FY2-U comal & DaegT s e afs a3l
SN EH G e q, 1279 ffoead Y@ fbas sraga sl
A HYT1Tw § AR HYF 2 7T §
B. PYUT1Tad g SIRBYT 2w

C. YT1 3R 2SI AW E
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D. HYT1 3R 2 I 3w

Read the following statements —
I. Statistical data are numerically expressed.
Il. Statistics include presentation of data.
Ill. Statistical data are collected in a systematic manner.
IV. Statistics involve interpretation of data.
Identify from above statements, characteristics of statistics in plural sense-
A. landlll
B. I, llandlll
C. LI, IMandIV
D. Illand IV
for fofrad wui®iug -
_' S%DIg %ETET%%{:}T % VI Y D4 foHU S B
5l

. gifo%dl | éaafr D 1%::T QT
SRIA FYFIOH T F5q399 9 oot
1 & 1l

1, 13RI
1, 13RIV
I 3R 1V

o 0o wpr

OR /3{Ydl
Class interval means/ d7- 31T b1 AdAd B ?
A. Sum of upper & lower limits/ m@ STl ST BT AN
B. A range of values which incorporates a set of items/ H 15 @t Tdh C@?ﬂ o ONH
a3 BTUD THE AMHA &
C. Extreme values of a class / WEITT@ IRHHy
A. Difference between upper & lower limits/ m@ ST T S BT 3R

A shoe company, wants to know the most popular size of shoe. Company should use....................... as
the most appropriate average for it.
(Fill up the blank with correct answer)

TH Sodl @ U, Sy do ST qa80 dlfds T 3MBR ST A8l 80 | S
@ VUH
ol ] BT AN HATANY | (Tel SKIdH 1Y I4 ™o W)

Which of the following can be expressed graphically/ [ Sferga 09 e varfoar orrfs
YT Sl g ?
A. Mean/HI B.Median / @I C.Mode/ 950  D.B & Choth/BTd ca‘H‘f

Define ‘Index Numbers’/ W?ﬁq? ~Nd PR |

Assertion (A): Correlation cannot be negative.

Reason (R): Two variables cannot move in opposite direction.
A. Ais true but R is false.

B. Ais false but R is true.

C. Both A and R are true and R explains A.

D. Both A and R are false.

HYF (A): 8T U HWIBUT  F LIS T |
PR (R): & T FH W Faudia fgzm & = Tdies god |
A ATGWE TR gRIWE | B AT S @ HTRIAWE |
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B. ASMRREIAWT 3R, ABI Do1%THATE| D. ANRREHI 3w T |

“The sum of the value of all observations divided by the number of observations.” This statement is
valid for /*qW} @il & H DI TN gt Bl G%oTH oaurfosa Eﬁ?ﬂ % I" 98 HY- D
U HI % -

A. Mean / HI

B.Median / 1 @1

C.Mode / d5¢h
D. None of above / SIRI4 T > B8 A8010

OR /31Ydl

Read the following statements-
l. Algebraic treatment of mean is possible.
Il. Mean is based on all items of series.
lIl. Mean cannot be calculated by using graph.
IV. Mean is not affected by extreme values.
Which of above are correct?
A. [ &I
B.I, Il &Il
C.LILIM&IV
D. 1 &IV

o7 foforaa $"’Fﬁﬁq€ -

LA HT SRR SUAR YHa 7

LA oima s gt HE IR ST d g 5|

N, oTh BTSN HRB AT PI T ol BI off Jabeh g |
V. {HT TREH 159 Wi ad gl g

IS4 9 T HHIE 82

A. 13RI

B.I, 11 3R 11

C.1, 11, 111 3R v

D. 13RI

If coefficient of correlation being +1. Which of following statement is true about it-
A. It shows perfect negative correlation between two variables.
B. It represents normal relation between price and quantity demanded.
C. Itcannot be shown by scattered diagram.
D. Allabove statements are incorrect.

e gedey ST UIE +1 81 39% IR H 7 Pfirgd 7 I e wHyadw -
TAWND STILUTBRT & Tgd- T Y T 8o |

. Jg Fad MR AR TI'§ AToTe daam geu@r Bfafy o % I
. afoe I IRT oRITI @ ST gHarg|

D. SWRI4 T HYT T |

0w >

Observe the following set of data/ Sas 9 ftddew® oHT:

5,7,6,1,8,10,12,4,3

“In the above data if 12 is replaced by 20, the value of median is unaffected.” This statement is
True/False?

5,7,6,1,8,10,12,4,3
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"IUYA T2 H g 1261 20 T sgd fogarSrar g, at PIHIAF 3 YT ddgdig: I" I8

DY
EI/Tad g

10

What is the full name of CPI?
A. Consumer Price Index
B. Cost Price Index
C. Corruption Prediction Index
D. Country’s Production Index.

CPI BT T ATH ®cTg ?
A. SUH4T DT Ah D
B. TITd & I1Hd Yddbidh
C. TR S{FHI W
D. a_SZT DI3 olgd W

11.

Read the following passage carefully-
Class limits should be definite and clearly stated. Generally, open-ended classes such as “70 and over”
or “less than 10” are not desirable. The lower and upper class limits should be determined in such a
manner that frequencies of each class tend to concentrate in the middle of the class intervals. Class
intervals are of two types: (i) Inclusive class intervals: In this case, values equal to the lower and upper
limits of a class are included in the frequency of that same class. (ii) Exclusive class intervals: In this
case, an item equal to either the upper or the lower class limit is excluded from the frequency of that
class. In the case of discrete variables, both exclusive and inclusive class intervals can be used. In the
case of continuous variables, inclusive class intervals are used very often.
Answer the following questions based on above passage-

A- What do you mean by class interval?

B- In which case inclusive class intervals are used very often?

C- In which case both inclusive and exclusive class intervals can be used?

o e::::::ﬁ'lm TO-T- XTI $‘T 4::Tq ﬁ ﬁ?.f'l'{-

FTdAe PR TR4 vor 998 S Aforel oM dR W, 70 3R f3rud a1 "0 T
wH" Gf\‘v'ﬁ 3N T AN T T :lgs::::?[-:f::-gl o ] Gﬁ'{ 3 amﬂmq" R PR
SAYT I B A AU ® wod I Bt TRGTRAN. FT W@ lc® 7 7 a2
d8 TH WA S FR & Bl B: (i) JATG 2 IR R g fomvfdg 1, fomat a
FI Poerelt ok U Aishic & SRR AF I/ I Bt IR IRAT ARfoTA SPHU ST B (i)
UGS I ORI AT T, HWI AT aT i ® RISR TG 1 39 Fh! dR- IRl I

SN o paT ST ghdi g | Gad IR A T, AT W a9 30 aRId 950 IR UGN T
S Bl SRA o I-T® MRWRET fiferma -1°® IJuz +olQ-

A- T 3OTRTA T MY ® o] W\ B?

SfSa | gHTE 2 9 3O RIACIO BT IST IR TR BT T g2

oHg formia | T 2 SR SUas T 3O I ST BT UGN fOHaT o Tehdl 8002
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12

Calculate mean of the given data:

ST Y SHiche Y HI4 P TUHT DR |

Daily 2-4 4-6 6-8 8-10 10-12 | 12-14 14-16 | 16-18
wages

No. of 11 14 20 32 25 7 5 2
workers

OR /3AYdl
Explain the formula for calculating mean (short-cut method) in case of individual series, discrete series
and continuous series.

D -:22:134T|H c@?ﬂ, W Cw GﬁT -:::j::s:R.(-R cwa; I“-qa' I[ ]:I-l- aﬁ..rl.u.l:n.a; {:}a_q m’ (a_g
-::Iﬁi:eﬁ‘c',[) a‘ﬁ
D:=:T1%::T hY |

13

What do you mean by ‘base year’? Discuss the importance of index number.
YR Y ® ] E’:\ ? H-:;:;Ws:ﬁ:&ﬁf:-$ & He Bl D% T B |

14

Discuss the principles which should be followed while drafting a good questionnaire.
Th 3 S5 STl Rl oV T‘PEI'IT A g e oG5 -1 a1 &1 gred g S
SAWR AT DR |

OR /31YdTl

Which method of data of collection has got a mention in above picture? Give merits and demerits of
this method.

G'ER:f4 odTH B-I'IETS’[H% H::f:sUE'UT o [ Y e::::?ﬁ‘él?ﬂ o] e:::::zWTTI'JZIT's'?:t:s?E'H e:::t:zﬁ%[ @ 1T°UT
3R Y FATI |

15

Calculate median from the given data: -:::;::szranu W I 4BT S TUAT HR |

Class Interval 0-10 10-15 15-20 20-30 30-40 40-50

Frequency 2 3 2 12 4 7
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16 | The table given below shows the amount of sales of 100 companies. Prepare less than and more than 343
ogive./ = E(pf ﬂ's‘ SAPT 100 F: TUg-to ot fog SaaT E'SZT]?ﬁ '6'\ | g HY S-ﬁT T fqge qror| =6
3 PR 20-30 | 30-40 40-50 50-60 60-70 70-80

crore
Number of 7 12 15 30 22 14
companies
OR/ AYdl
Make Histogram of the following data:
[N e d 3P b SMYId9d-30Y 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Number of 42 38 120 84 48 36 31
Students
17 | Calculate Karl Pearson’s coefficient of correlation from the data given below- 6
| -:::::::-1%1'@?[ 3T W\ H\ CAGRECREE] 33;:::- YA 1T§'UT-::::::eT-::f,e3‘7 ﬁ UM b —
X -SERIES 12 15 18 21 24 27 30
Y- SERIES 6 8 10 12 14 16 18
SECTION - B (Introductory Micro Economics)
18 | Ukraine war with Russia has lots of economic implications as well. For example the schools, hospitals, roads 1

and power stations have been broken. Large number of skilled population have been either killed or
injured seriously. This will shift the production possibility frontier of Ukrain .................. (fill with correct

alternative)./ VI & Ty © T35 & §5d IR RB¥Mys Hd W g1 Jaeui . e ¢ 4,

AT, TSHHR P FoTelleR ;T MW | TS %1 H T A awa‘”r g dlARD M ATTHHR VU
T A 5T T8 Ty

& WY W)
A. A.leftward/ aTﬁ 3R B. Rightward/
C. Neither leftward nor rightward/ s ar GT\@ GhT'_‘f 33[ aﬁz | D. Both leftward and rightward./ EIT&
\?ﬂ?a‘lﬁ a‘ . Ilifl:»
19 | Which one correctly represents equation of budget line? (Symbols are in their conventional meaning) 1
PG I ® U 1T oy s=Rarg?( eI ITR-UIG AYH B)
A. M=Px.X-Py.Y
B. Ms=Px/Py
C. M=Px.X+Py.Y
D. Ms=Px/Py
OR/SHYdT
Draw a Perfectly inelastic demand curve./ & U, UTd: H\Fﬁm 1o q EFI'Ig'q\ [
20 | Read the following statement. 1

I. The responsiveness of quantity demanded towards change in price is generally known as elasticity
of demand.
Il.  Negative sign before the formula of elasticity of demand has no mathematical significance.
Ill.  Necessities of the life have elastic demand.
Which of above are correct?
A 1&I

B. I, 11 &Il
C. L
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D. 11,1
> P lead sy Y fﬁ’r{Q |
I Hy . A U@dd® AU T Ht 11'5‘ mToIel O R emaRRA TS AR VIH I
SITdl 8 |
LTS AGF G F gEA B & g5 H1 s Moda g I8!
11, SfigT B TTA D3N DI AIER HoTo T gl 8 |
SRI4 § T HH I I8 82
A T&ll
L&

B
C. L
D. 1,

OR/3TYdT
A demand curve parallel to X-axis will reflect/ X-3{ *® WWIIWH f
A. Elastic demand/ Fﬁ?l_Q"ITIlT‘TI
B. Perfectly elastic demand/ @Wﬁmml
C. Perfectly inelastic demand/ @W@WWI
D. Inelastic demand/ WWI

21

When 5 units of a good are sold TR is 100. MR of 6" unit is 8. At what price 6th unit sold/ SId Sl Gl
P 5ZHISAT It Sildl 8 ol TR 100 SIAT &1 B! 3PBTS I THIT 3T (MR) 8 & | SHIS 6 f0HH HIAd W
CEISINIEE

Rs. 28 per unit/
Rs. 20 per unit/
Rs. 18 per unit/
A. Rs. 12 perunit/ .

o w »

22

Which of the following is not a reason for the operation of increasing return to a factor?
A. Better utilization of fixed factor.
B. Shortage of a fixed factor.
C. Increase in the efficiency of variable factor.
D. Indivisibility of fixed factor.

> Pfgan @ sRaaeA® gy awa s

AT HTHRU T2

p. Bof amﬁﬁﬂm | il

23

As per GSl report a new, 230 million ton gold mine found in Jamui, Bihar. This would cause the. .....................
curve for gold and gold jewelries to shift......................

A. Demand, Right

B. Demand, Left

C. Supply, Right

D. Supply, Left.

SHugams &1 e AR PTeR® W3 A 230 AT AT 1t 78 @F omet g0 |
OGS G RGPS TP 0T g B ™oHid Id g S|

A Hels 1T, a'ltﬁe:::}

B. W, 9T

C. 3MUgl=d, E"I'?ﬂzf:s
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D. 3Mugfod, d™-1s

24 | The average cost is 42 and it is minimum when 5 units are produced. The marginal cost of producing 5 unit is
3T AT 42 8 3R 5 SHISAIHIS cTGATH IR TG AT B 53PR b 3 ol Bl Wi arld g |
A 22 B. 32 C.42 D.52
25 | There are two statements given below, marked as Assertion (A) and Reason (R). Read the statements and
choose the correct option.
Assertion (A): Total product will increase only when marginal product increases.
Reason (R): When marginal product decreases but remains positive, the total product increases at a
decreasing rate.
A. Alis true but R is false.
B. Ais false but R is true.
C. Both A and R are true and R explains A.
D. Both A and R are true but R does not explain A.
I3 @ wuF fogumu g, 95 fR3ueud (4) SIRSRU(R) & Vva A PRsdasa g sy s ug ok
el
odd DI P |
Rrvwy(a): A3 orgw afiglseriismdm 3 o @ gios grfl
BRI (R): ST HATS  olg gedl 8 AfHTIBRT HEdTe, T A3 ol gedi aX J dgdl gl
A ATGWE TR oRIWED |
B. AT e ADHT R Iw B
C. ASIRREAITwE AR R, ADBI DoT%THIATR |
D. ASRREHIGw 8 ARHAR, A DI Dol% T TR HRAT B |
26 | In case of perfect competition, AR curve is / T Ul Ao el fomi>a s ARG BI '63 -
A Perfectly elastic/ uawml B. Perfectly inelastic/ Uy UTdT § AAGR|
C. Elastic/ @GR D. Inelastic/ SARIER
27 | Consider the following picture : -/ {39 29T R foq@R DS

Is this characteristic found in a perfectly competitive market/ ® =TUg DR Nl Q01 2ATdl

IR A TR S 2
(A) No / :Ing (B) Yes /@l (C)A&BBoth/A& Bfﬁ:ﬁ (D) None ofabove/aﬁgqﬁ
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28

Delegates at a UN climate conference in Sharm El Sheikh continue to negotiate a financial agreement, with
the latest draft suggesting the creation of a fund to compensate a section of developing countries for the
damage already done by disasters linked to climate change. Country representatives at the 27th
Conference of Parties (COP27) of the UN Framework Convention on Climate Change are expected to
convene again at a closing plenary session in the Egyptian resort town late Saturday night by Indian time.
Loss and damage (L&D) compensation should be part of COP deliberations for over a decade, with calls by
island nations and developing countries for a dedicated fund and a clear financing scheme to compensate
countries that are bearing the brunt of climate linked calamities. This was the first COP to formally include
L&D as an agenda item. With little agreement among countries on other issues such as a call to eliminate
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all forms of fossil fuel or deliver on climate finance to developing countries, clarity on an L&D fund was
widely perceived as a successful, tangible outcome from COP2. “The Conference of Parties welcomes the
consideration of opportunity cost, for the first time, of matters relating to funding arrangements
responding to loss and damage associated with the adverse effects of climate change... establishing the
institutional arrangements...for averting, minimizing and addressing loss and damage associated with the
adverse effects of climate change... including supporting its mandated role in catalyzing technical assistance
for the implementation of the relevant approaches at the local, national and regional level in developing
countries that are particularly vulnerable to the adverse effects of climate change,” said a draft agreement
on 19/11/2022.
Source: The Hindu; Nov. 20, 2022
On the basis of above news report write the answer of following questions: -

a. What do you mean by normative economics? ‘Loss and damage (L&D) compensation should be

part of COP deliberations’ is which kind of statement?
b.Paragraph has got a mention of opportunity cost. Describe the reference.

I A W H g4 W Faddy H o 7 iRy w Pakdw gueia R PeER
ST @ GRM WAdFaH TG A Sddiy U §ad 9 Sy Sl Suersiio W ugds 9 8 5U
FPuA B AT DaemRid @ Weld & Th @bl Hydiael oo & 0T T BN §9H BT
H,1d Toadl T _63 | iU £ AdH F I AA 4-:::1:::-]313[?:::-3 IN® 7B E T 3B Ue o
(cop27) H E\ g RfRyaas o U JHYT UL U1 AT H T R a\jﬂ:[\ 3 ‘1?{ '53 | af\:{

<RI TP G0 B S iR Tb 4
aﬁsﬁréaﬁaﬁgm mmwﬁﬁmﬁrﬁ&mﬁm
STt ﬂf‘lﬁ?%'s’l 3T P VO L&D B TS ST HEcH & VU H RMOHT XA JTell I8 Ul

cop Tl I IR & a4 e H @ B a1 Fawre=id o= &I Siaayg foaK gF &34, T ¢
ST W4 A 3 IR SR P o9 I505H TeHd & 914 B S Pl DoTuH VU J Th 9%,
cop27 ¥ URUIH & VU H HHI SIWT | JHHH $Hoidid H ¢ BI DA™ Redddy & foddy
q HEsTs I \_rfog\ 08, U G, - ™TTd DI™AT3N:

S DU ® B ?Ff@ f\maﬁﬁﬁmﬁs s XA B> | sﬁwf?&qu
Hz [ HbT bl HYA > Rgd Paemid @ 2016 7 Afoan v vo ¥eHeR g, foore oicldidy U
Iad & oddy o Hgoto @ fo@u #19/11/2022 ﬁwmmﬂw I
woia: g 28g; 20 T6eR, 2022
IWNA4 FARR Wied: YRR T fifma v @ I Sforau.-
a. SMERT & Y™ ®c1 g ? BT R T (wdsdh) Ay 3maw & ¥ W fus Jay
g rafidt
oddR-TodHR b s:iji:s€4e::jiera7|T Q- Ty DR Pl hYd 's’a ?

b. UX = < T TR ANTd BT IW-E fomar T _6s 2g5eY DI D% T HT: ?

winwvkE +0R
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29

Calculate the of price elasticity of demand if, with a rise in the price of good-X from Rs.10 to Rs. 12, the
quantity demanded falls by 40% and comment on it.

A B HAT A DIIVATIR , FRA™ X PIPHIH 1089 127P)
HIT::T
40% -:::::::-TRGI'IT‘ﬁ% 3R Roe iR |

5 a7 gy g™ ﬁ | a'ﬁ

OR/31Ydl
Explain any two factors affecting price elasticity of demand./ AT &1 H1Ad A B HIfoad & ard
T?;::-$5s::jﬁ-::f:eap[ HRBI BT D1%T B
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30

From the following schedule find out the level of output at the which the producer is in equilibrium-
o7 foforaa Glﬂﬁ?ﬁ AT oleAd ™Y R U Y oS RI e:::::sW‘v'iﬂﬂ:[q %
Output /3 «Tad Price /®THd Total Cost /@ o <RI
24 26

24 50

24 72

24 92

24 115
24 139
24 165

OR/SHYdT
Discuss Law of Variable Proportions with suitable schedule and diagram.
UEd AU ® DR 3 34 s A IR SR I ® W FdcT IO

N(foju|~h|[W(N |-

31

A consumer consumes only two goods X and Y both priced at Rs.3 per unit. If the consumer chooses a
combination of these two goods with Marginal Rate of Substitution equal to 3, is the consumer in
equilibrium? What will a rational consumer do in this situation. Explain. Uh

JUHIACT & ad gl ampsft x 3R v &1 ITHNT 6l 8, 1 &1 SiFd 3 T o gfore 81 g Iusiger
3% R foameT &1 dHid @R & A1 g7 3 grg il BT JASH 1 8, dl ® of JuHl4cT
Ige A 8?2 39

c™iSdH Th dhdsTTd IqH4 =T ® T HTT Do1% T B |

32

The market for a good is in equilibrium. Explain, using a diagram, how a decrease in input price would
affect the equilibrium price and equilibrium quantity, keeping other factors constant.

TP I™o BT IR AJAT A 1 SRW BT I HRd 5T Y O 37 HRBI &
HHTH HH b Y Uga S SR Yga AT DI Wifoad df|

O™ G 5, T

33

Distinguish between ‘Supply’ and ‘Quantity supplied’. Examine the effect of following on supply
curve/"STa T 3R "STY SAPTHITOT R S FORDR | SMUylodd WRToA JfRed® Wa @
PRI BT 1

1) Fall in own price of commodity/ d™; ﬁ?@,‘c{ﬁﬁﬂan SUNC

2) Technological progress/?‘lav_"ﬁﬁ |

34

Suppose a consumer whose income is Rs 500, want to consume only two goods, good-X and good-Y. the
goods are respectively priced at Rs. 50 and Rs 25.
Answer the following on the basis of the given information.

A. What is the slope of budget line?

B. State the budget equation of the consumer.

C. How many units can she purchase if she spends the entire income on good-X.

D. How many units can she purchase if she spends the entire income on good-Y.

A AfowE 0w T Jui4c1 oot 3 so0 T B, & ad &l g™ o3 T SUHRT BT A1l §, X 3R .
SUH EHHd A U 503R L2580 |
AT BRI P YR W 27 Pferea & IRk Afoml

A. SSCITI BTG @ T g?

B. JUHI4<T BT Foic FHIHRU TSyl

C. ﬁ?{ dg qc\ﬁ 3T X TR &d Bl '63 @ de RGEll gy lo e "@Iﬂ? Thdl '63 |

D. MR g Uy S YUR T il B0 Tt a8 el Uy foe Wie Heveli 8 |

OR/3IYdl
Define indifference curve and explain any four properties of it.

SYAM T Pl U IOV Hd 5U SH5-)5 IR foaudrsi b1 D-1%:1
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